MATHX.NET
Multiplying polynomials - Fractions - Simplify product of binomials

Simplify product of fractionswith two variables:

1 1
1) (x - 1§y)(—2y + 1gx)

3) 3£a + 11b 1ﬂa + 41b
6 3 5 7

s oo

7) (3%X - gy)(y + 1%x)

9) (1%x - lgy)(S%x - 1%y)
11) (3%x - 1%y)(1gx - 1%)/)
13) (4gx + %y)(x + 1§y)

15) (—v + 2§u)(2u - 31v)
4 2

5 1}[1 1
17) [1ox+—y|[=-x+3Z
SRR e

5
2) [-u+ 1Zv 8u + 31v
6 5 5

4) 3§a - 11b Zla - 1b
6 4 2 2

1
6) 11m+3§n §m+—n
6 3 /\8 3

8) ﬂm—lln 2n+£m
7 7 7
2 1 1 1
10) [2—x+—=y||2=—x—-1—
(22 o)
5 4 5 1
12) (—x+4—-y]{1-x+1—-
R
14) (Zv + 1gu)(—6v + lgu)
3 7
5 11)(3 2
16) |4—-x+—y|[—-x+1—
(45 o1

1 2 4
18) |1—x+4—y]||-2y+1—X
) ( 7 5y)( 77 )



19) 1§a+ 11b §a+31b
3 4 \5 3
6\[5 1

21) (2y + 1=X|[=x+—
)(y 7)(8 6”)

23) 41m—1£n 1m+§n

4 7 J)\2

3 3 1 3

25) [4-x+2—y||3=x+1—=

R e
5 1 1

27) [5=x+1-y|[-2y+2—Xx

 [paesea]
29) 2u+11v 31u—§v

2 2 5

7 1 5 3

31) (1—x+4—-y||[4—x-1—

R e
33) —8b+§a 4§a—1§b
4 4 3

1 1
35) (Zy + gx)(Zx - 1Ey)

37)( g+l y)(4x+1 y)

20) —b+3§a Ea+ Zﬂb
4 |\8 5
22) (11m+ 1ln)(3§m+31n)
2 3 6 7
24) x 3 y 11x 1 y
5 6
4 5 3
26) |1-x+1—y|[3x+1=
)( 5 6y)( 7”)
28) ( X+ 1;y)(2x 31y)
3 4 1 7
30 X+ X+—
)( y)( 4" 8y)
32) 1§u+1v —v+4lu
8 5 6
4\ 4 4
34) |2y + =Xx||1=x+ 3=
[oregreesd)
8

36) 11a - 1Zb SZa - 1gb
2 8 3

1 5
38) [2x-6=y|(5y +2=x



1
39) [-n+ 31m 51m +—n
2 7 2

41) (x - G%y)(ZX + %y)
43) (1éx 3— y)(1x+ 2y)
45) (GU + B%V)(Sgu + 4§v)
47) (Zy + 4§x)(—y + 1%x)
49) (4%x - 1§y)(x - 1§y)
51) (1§a + 11b)(a + 3gb)
7 4 3
7 3

53) (n + B:m)(24m—1n)

1 5 3 2
55) |11 —x-1—-vy||4—x-1—
) (1515513

1 2 2
57) |-6y+—Xx|[1=x—-5—

40) 21m + 2§n 11m + 2§n
8 7 8 8

11\/4 5
42) |2y +1—X||—x—-1—
)( Y 2)(7 6”)

44) (3X - %y)(—y + %x)

46) (—3v + ZEU)(U - 3§v)
6 8

48)( a+4— b)(2b+11a)
3 2
50) (Zx 1— y)( 3'x+3%y)
52) —2n+1m 2n+3§m
3 8
1 1 1 1
o) [x+—y|[1-x+1_
[ a3y
1 1 6
56) [5x+3-y|[1=-x+—=
st

58) u Zﬂv 11u—§v
3 5 8 8



3 1 2 3
63) |4—Xx+4—y||[1—Xx—-2—
) [43xr a3y 13- 23]
7 1 5
65) |-y+4—x|{1—x+3—
)(y 8)(3 7”)

67) (Zm - En) (Zn + lm)
3 2

3 1 5
69) |2X+1—VY]||—x+ 3—
) ( 7y)(2 6y)

7
77) |-u+ llv 11u + lév
8 2 2 6

60) 21u+41v 1u+11v
4 2 \2 8
62) (§a+zb)(a+ 11b)
4 3 2
64) (2a+ 1§b)(—2b+4§a)
4 7
2 6 2 2
66) (4=x-1=y|[1l=x+4—
e s
68) 41m—31n 51m—21n
4 6 6 8
1 1 3 1
70) (1-x+1-y|[1=x-1=
e
5 1 1 2
72) [1=x-3—y|[1l-x+1—=
(1 spendy
1 2 2
74) [—x+1—-y|[2x—-2—
I

1 1
76) (2x + Zgy)(x - 27y)

78) (7a + Zgb)(Za + Eb)
4 8



4 1 1
79) -4y +—=Xx||2—x+ 3—
)( Y 5)( 4 sy)

o) (13a-220|[a1a+ %)
2 7 3 8

83)( X+1— y)(2y+§x)

87) u + 11v 1§u + 11v
3 3 3 2

1 1
89) |2x+1—Vy]||-y+3—X
) ( 2y)( YT )

2 11\/1 1
91) [1—x+1—Vy||—x+3—
) [1Exeag)3reagy

11\/1 3
93 + 1—X|[—x—-3—

2 2 3 3
95) [4—x——Vy||2—x+ 1—
) 450 Byl2ieendy

1 1 4 2
97) |[4=-x—-3=y|[3=x+1=
(s 251

1 2 1 3
80) [3=x—-3=y|[1-x-1—
I

82) (Zm—ln)(gm—Eﬁn)
4 \3 3
2 1 3
84) [-y+—x||1-x+1—
)( g )( 3 5”)
6 5
86) (x—-1-y|[2x-1—
)( 7”)( 6y)
11\/1 1
88) |5x+ 1-y||=x+4~
peraloed
1 1 5
90) [8=x-3=y|[2x-1—
)( 3 6y)( 6”)
92) 4Eu+4ﬂv u+1lv
6 7 2
o) (11a-12p|2a+1p
7 7/\5 5

96) (11a+ b)( a+l— b)
6 3

98) §m + 4£n 2§m - 31n
7 5 6 2



99) (m+ 41n Zlm - lln
8 8 4

1 1 1
101) (2y+1—Xx||1—Xx +—
) ( y 12 )( 10 Zy)

2 1 8
103 +6—X|[6—X+ 6—
)(y 3)(2 9y)
4 5 4 1
105) [3—x+—Vy|[6—%x+2—
) [35x+ Sy|[o2x+ 23]

1 5 8
107) [-2y+1—Xx]||4—Xx——
) (v eadqa5x- 1)

1 3
109) [2x+ 1—V]||8x + 2—
) ( 2y)( 5y)

111) (Ea - 11b)(2a + 3b)
6 7 J\5 11

1 1 3
113) |7y +2—X||6—-x——
(22

115) 4§x + 1gy 5£X + 2
4 3

3. .4 3
117) [1=x-1—y|(8y + 1=x

2 1 1
100) |2y +3—x||1—x—-1—
)( AR )( 4 3y)

110) (41a + 1§b)(1a - 1§b)
8 4 /\9 9

112) Zim - Zgn 6im + En
12 5 10 4

5 1
118) (—u- 1Zv 2V+—u
6 5 3



2 5 8
119) (1—x+2—vVy|{2y +—X
)( 7 sy)( Y 9)

3 1 3
121) (12—x——V]||x+4—
) ( 5 7”)( 7y)

123) (2x+ 3y)(ix— —y)

1

11 8

125) (ilx 1-— y)(le

12

1-

)

1
127) 61m + 41n 11m +—n
8 2 5 9

7

129) m+5£n4 m+4
12

1
131) (2x - 11—Oy)(2

11

9
11

o)

10

—n
10

133) 41u + 51v —6v + llu
2 2 2

11
135) (52x+53y|[Ex -
9" "57)\2

2
)

1
137) (y + 4Ex)(

2

11x+4
3

)

2
120) [11u-13v|[ 20+ 12y
5 "4 \11 11

122) (152~ 130| 5a- 20)
12 12

124) (Ja-3%| a3
9 4

126) (3;x 3— y)(2X+ 3)’)

128) (5%X + 31—12y)(2§x + 6%3/)
130) (1x += y)(4% - —y)
132) (7110)( + 1%y)(12y + ;X)
134) (1%( + 1%y)(5%x - liy)

1 5 3 3
136) |2—x+1—y|[1—x+1—
) ( 4 Sy)( 5 4y)

138) (11a+11%p Daql b
27 T12 )\11



141) (1gm - En)(llm + 41n)
3 5 2

143) (—Zy + %x)(—Zy + 1§x)

145) (X - 1%y)(y + %x)

147) (Zy + 41—10x)(41x - Ey)

3 3

1
149) (48u-13V|[52u-1y
9 5 )\"11 6

151) Ziu - 3§v Eu + 5§v
12 7 N\7 9
1 \[4 1
153) |2x+ 3=y|[=x—-3—=
[eragile2y)
3 10 12 3

155) (Ea + ib)(6£a - 1gb)

5 7
157) (9y +1=x|[y +4—x

11\/1 5
140) 12X+ —=Vy||—x+ 3—
) ( 7y)(2 6y)

142) (ia + Zlb)(Sia + GEb)
11 8 1

5 9 1 2
146) (1 —-x-1—y||1—-Xx—-2—
) ( 6 10y)( 4 By)

5 2 11 1
148) [1-x—-—y||4 —=x+1—
o)

3 4 1 1
150) | =—x+—=y||1—x+4—
) (o5

5 51/8 4
152) |5—x-1—Vy||—X+6—
) [ rgleerny

154) 1a—ﬂb b+5£a
4 7 11
9 8

2 7 1 5
156) |6—Xx——V]|[1—Xx+ 6—
) ( 3 9”)( y)

1 3 1
158) [—m-—n 4£m +—n
10 7 12 9



5 1 3 2
159) (1—x+1—y|[1—x-1—
N ) )
3 2 2
161) (11—x+1—vy|{x+6—
)( 5 sy)( 7y)
163) u+4iv 1§u+3£v
11 4 12
3 11
165 X+—=y|l11ly + 1—X
)( y)( I 12)
2 1
167) [2y + —Xx||y +—X
) fore 3 2
169) (10a + 1§b 1Ea—1gb
6 5 7
3

171) 1m+3 n 2m+ln
8 11

1

173) 11m—11n ng——n
8 6 5 4

3 11\/6 3

175) | =x+1=-y||l-x——=
)(5 Sy)(7 Sy)

1 1 4
177) [2—=x+1Zy|[2y + 1-x

4
160) {6m+—n 22m 4£n
11 5 12
1 1 7
162) [-10y + —x|{2—x+4—
(o7 e
164) 6§u + ng 2u + 2§v
4 5 7
166) 2la + 41b 2a+ 1£b
11 7 2

168) 1§u - 1§v 11u + 41v
8 7 4 3

170) (4x——y)( 112 1%y)

1 1 7
172) |5—x+4—y|{2y + 1—X
) ( 9 10y)( y 10 )

1 7
174) (4= x+— 3—x- 2

176) 1u - 11v —4v + 1£u
2 3 4

3 2 5
178) (4= x+6 X5,



1
179) iu +—v lzu + 51v
11 10 8 3

2 .1\[.3 1
181) [55x+1-y|[3=x+4=
) ( 7 3y)( 11 4y)

2
183) |7u+ llv 5iu +—v
4 12

3

1
185)( X+— y)(lﬂx 1— y)

187) (m + 1§n)(m + 1n)
5 5
189) 1§m + 1Zn 53m - BEn
4 8 3 5
3 1 5
191) |6x+ —y||1—x+5—
s
193) |2 1u - 1v 11iu + BEV
4 2

12 10

195) 1E +1E 6§u +1v
7 12 7 8

197) |-5b+ 11a 4ga + 1§b
2 3 7

180) (51a - 3§b)(7a - Eb)
6 7 5

9 2 5 4
182) |—x+6-y|[1-x-1—
) (10 7”)( 6 sy)

o s olher2)
0 (2a- 2020 %)
188) (%x + 1%y)(3gx + %y)
190) (SSX - B%y)(gx + 1%)/)
192) (61—70x - 1%y)(12x - 31%3/)
194) (léx - lgy)(sy + 1gx)

7\ 120 T2

196) (61—10u - 1§v)(6£u + 11v)

4 1 1
198) |2y +1—X]||5—x—-1—
JER

-10-



199) (2b + 62al(a%a + %p
6 /L9 9

3 5 2
201) (—-x+10—y|(15x + 8—
 [gera0 s a3y

203) (

205) (lm - 2—n)(§

207) 9£u + SZV
12 3

209) (
211) (
213) (
215) (

217) (

2m-— BEn
16

3
10 11

11
101x+9£y Ex——
16 8 12

19

1£u + 3£v
13 14

1

1—a- 1ib
20

11

Zia + 91
14 4

1§x + 7i
3 17

6 6

17

4

2—m+ 3—n)

1

m—l—ﬁ

3

5

-2V + 1—u)

12

4
2

(1£u - 1—v)
5

1

o3

;s

2
11y

13

)

1

19—a+3—b
2 18

200) llx—gy 1x+ 1i
3 T7°1\3 12

9 3 5
202) [—x-1—vy]|[-12y +—X
) (11 16y)( y 6 )
14 20

204) (lix - 1—gy)(—7y + ix)

11
206) (108x +52y)[Hx+ 12y
177 "6’ )\12” 73

208) (2x + 8£y 9§x + 71
17 7 9
210) 11—3u + 1iv -2V + liu
18 16 16

212) 6Ex + Ziy 1Ex + 1gy
17 13 3

2 7 7
214) [75x+1-—y|(6y + 12-—x
) ( 3 16y)( ETe )

2 1 1
216) (2y+ 1—Xx||—x+ 9—
) [y a2 ooy

218) 31m + 1ﬂn 18m+ 6£n
2 5 9

-11-



6 1 11
219) [2x—-2—Vy||7T—x—-1—
) ( 13 y)( 2 y)

1 3 11
221) [1—Xx+7—Vy]|2y + —X
) ( 6 14y)( y 13 )

223) 2£u - 1§v 1iu - 11v
19 6

1 1
227) |-a- ZEb 3§a +—b
2 16 5 15

5 16 11
229) [5—x+ 10—vVy||15—x + —
) ( 6 y)( 19 y)

1 7 4
231 —X=2—=Vy||—x+1—
) ( 12 9y)(12 y)

1
233) |-17/n+8 11m —m+ 1§n
16 J\3 3

5 5 1
235) (16y+ 1—x|[1—x+9—
)( 4 7)( 9 zy)

237) 6§u + 8§v 8§u + gv
8 9 9 1

220) 9n+4£m 1§m—11n
9 4 3
3 4 1
222) [—x—-—=y|[9x+—
(a8l

224) lgu + 9§v -2V + ZEU
7 3 19

226) [11a- 1 b 10,415
2 13° 7 115

230) (61a+6 b)( 1, 1Zb)
3 129" g

232) 1m+2—n 11—3m+81n
3 20 18 4

3 1\,7 .1
234) [1=x-12y||7-x-1=
)( 11 Gy)( 8 zy)

4 \[1 6
236 X+— X+ 6—
) ( y)(z 19y)

238) 31u + 1§v llu + 8iv
15 4 4 10

-12-



239) 1£x+31y 1
18 3

241) (

243) (1

5

3a+ 1
11

5—a+ 41b 16b + 1a
9 3 6

-+

1 1 4
245 +1—X||1—Xx——
) (y 20 )( 2 7y)

247) Em + 2§n
17 4

1

2 \[1 2
249) |12x+6—y|[=x—- 20—
) ( 19 y)(Z Sy)

251) 1gm - Zn 11m +10—n
5 7 6 1

11
2

253) (

9
255) [—x+1—vVy||8—Xx+5—
)(o sy)(

257) (

105X +10—
6

11x+5
2

1§m+ 1—n
me 1)

y)(Six 10—

16

9 10

9

v)
13 2x+i
197 14”7

)

240) (5 +%y)( +115y)

6 11 8
242) [2y+4—X]||3—x—-1—
) ( y 19 )( 16 Qy)

5 12 1
244) |3—x+2—y|[-2y +—X
a2

246)( a+6— b)( 6a +3£b)
8 19

248) 1£x + Zly SEX - 1Ey
15 2 14 15

250) [12x- 129 \[23x+ 2Ly
197 "117)\"8" “12

3

252) 101u - 31v 11u +9—v
4 9 2 8

254) [13u + 13§v 4iu + 7Zv
7 12 8

2 1
256 X+ 7—y||—x+3—
) 2732

258) 81a - 19ib 1§a - 1§b
5 14 5 4

-13-



259) (4b + 1Za)(—4b + QEa)
9 14

261) 1m - En 1lm + 11n
2 9 13 2

263) (3x + Q%y)(gx + GEy)

3 14

11
265) m +2— > 4§m +7—n
5 6 6 16

267) u + 11v u +§v
5 2 7

269) (4£a + 41b)(9a + ib)
6 2 11

3 14 3 9
271 X—— X=1—
[

14 9
273 x +2—y|(-10y + 1—x

275) 5m 1ln 27m 71—On
7 20 8 19

277) Ex liy 17ix—1ly
15 12 19 19

260) 78x+31y31 =
RARETY TR

262) 91—2a + 1§b a+ 51b
17 5 14

9,2 19 11
264) [5— 10=x+1-=
) ( 10" 3y)( 20 14y)

266)( :;x—Ey)(ll—: +— y)

3 3\[6 10

268) [3—x+2—
) ( 14 y)(ll 13 y)

270) BEU + §v 4§u + 1ﬂv

11 6 4 5
272) 3la + 1b 91a + 9ib

12 3 3 11
274) (ix 1— y)(9 5X 13)/)

16 6 10

276) (= a+15p|(12a+1 3
14 \79  "20

278) [4n + 1Zm 31m + 31n
8 2 2

-14-



279) |y + 1£x 5£X + 14£y
15 14 12

5 7 1
281) [3—x—-1— +1—x
) ( 18 15y)(y 2 )

1 3 5 5
283) (8=x-1-"y|[8-—x+3-—=
) ( 3 14y)( 16 18y)

1 6 1 8
285) |6—x+8—y|[1-x+6—
) ( 4 y)( 6 11y)

287) £a+ 7— b 2a+ 8£b
14 12

11 16 8
289) [7==x+1-y|(6—=x-1—
)( 16 4y)( 17 17y)

291) ﬁm + 3§n 11m - 11n
15 4 4 4
1 1
293) (6x - §y)( X+ 3y)
295) 11—3m + 1£n 8m+ 1in
16 11

14

3
297) Eu + 1Zv u+-—v
20 9 11

10 4 5
280) (10—x+1—y||2y + >x
) ( 11 19y)( Y™g )

282) 11u + 3v iu + 7§v
4 14 J\20 4

284) |16u - Zlv v+ iu
9 17

286) 5ia - 1Zb a+ 1§b
20 8 7
1 6 11 1
288) [1—Xx+6—Vy||9—x+ 1—
JESR Ctebt)

2
290) 1§x +—y 11—2x + 4Ey
5 3 17 16

1
292) [—x+3 3 —
) ( Zy)( 20 )
294) (2 1m - 1n 1im ZEn
2 4 14 18

-15-



y(1-x+24—y
1
305) 1£x+25 y
12

6—m-—-16 3—m+—n
16 15

5 3\[7 1
309) [242x - Zy|[-=x+4=
)( 6 4y)(12 38y)

15—x+1—-y||1—x-1—
31 3y y

1 .3)\[.2 5
300) [=x-12y|(15x+5-—>
) (5 7y)( 3 14y)

302) %x + gy 13X - 11—6)/
41 38 16 37

11
304) [1a-1p|(12%a+ 110
36 2\ 45 11

21 22
306) [-2n+—m]{8—m+ 93n
22 25 17

308) 1Ex + 19§y ZOix + 11y
33 31 10 3

1
310) [2m+ Zin 17§m -—n
44 45 5
312) (2v+ Zoﬁu 181—3u + 17§
41 22 8

1
314) 23iu + 5§V 16gu -—V
13 30 39 3

316) 1a + 3b Zzia + 17ib
8 35 20 11

318) (19 x+ 123y |[2531x - 12y
38" 40 38" 73

-16-



319) (1% +192p|[12a-2b
21 47

w1 [Sr |-
11 187 /111 8

323) 25im—in 349m 19in
28 37 50 29

11
325) [1-x+1129y|( 1k + 132y
187" 387\ 12 9

1
327) [—x+19— 8 y 1ix 22£y
21 27 22 25

524 2\1 45
329) (62U + 16°2v||—u+ —v
25 37 \a6~ 47

11 7
331) [—x+—y 10£x + 3§y
15 16 44 39

333) 25£a 22 b 25i —Qb
32 33 16 49

5 14
335) |7y +8—=X]|x+ 23—
)(y 8)( 47y)

337) (14%3x+ 12 y|[112x+ 133 ol
22" 7197 \" 43

320) (2m 12n)(
3

322) (—x +4—

12y 10x+ 17
13

324) (
326) (
328) (

330) (

8
15

7

2

21—u+8—v
3

5

17—a-1
11

19
34

=34y + 16§
35

13

13
18

4

5

X Zle + 15§y
41 7

1)
39

13 \(37
332) (x+y|(Sox+
oo

334) ( 20 231y)(5E
50

336) (

338) (

-17-

17

1—m+ 12
18

12§
40

13
23

)

11

( 7o+
9
1—
38 y)

46

4
9

40
u__
47)

5y
16

19
37

3

33

+22—

22

8—m+ 5—n)

35

46

1n 43m + 101—6n
6 25

y

19—m+ 13—n 1£m+8—n
13

o)



1 1
339) 11£x——y —x+20£y
47 2°\43 28

345) (1774 + 1057 p(142+ 20
22 46 37

347) (2423 + 1722p)(251 0 - 1>
44 35 24" 19

349) 13ix + 14gy 34x - Ziy
12 3 20
351) 1ﬂm - 11—9n 1§m - Zin
5 36

353) 11m + 7En 1Em + 19£n
2 49 47 21

40
355) |—x-— 21—3y 19£x + 9§y
41 38 13 23

1
357) [23-Cx+—y|(1328x + 101ty
44" 19 4 14

340) liu + 7iv 4iu + 4Ev
15 33 41 29

342) 14£u + 13iv 3lv+ GEU
37 44 6

4 1 13 14
344) (1 x+23—vy||1l—x-1—
) ( 5 22 y)( y)

1 5 5
346) |1-x——y|[2x+ 13—
) ( 3 47y)( 21y)

348) 1£x + 16Zy 10ix + 21§y
25 7 13 38

1
350) [6°tx+y|(112 x+ 1 2Ly
34" 4 50" 15

352) 18£x + 1Zy ix - 1Ey
20 97 /\26 41

354) 19ix + 14£y 6£x + 121y
10 43 45 5

5 10 5 11
356) {1—x-—y|[13=x-=

358) liu - 1ﬂv 15lu + 23iv
27 7 13 17

-18-



359) 81x + 18Ey -19y + 49§X
17 27 9

361) 1ix + 1£y 4ix + 27
12 21 27 29

21
363) [—x+ 7£y 3§x + 23Ey
38 16 4 23

365) 221—2m + 1£n 2m+ 241n
41 46 2

367) (42x + 21§y 1ﬂx + 18§y
6 43 30

M
369) (17 8% - 12 y|[Ex+1-Ly
317 T26°\a7" 11

371) 1x - 1ﬂy 51x + 2E
4 5 46 26

373) 1ix + 7Ey 1ﬂx + 1iy
21 33 46 10

375) [y + 9£x 11—Ox + 11—9y
28 11 20

5
377) (18 34% - 18y |[12¢+ 2y
37" T4 24

362) 11Ea + 1§b 2—a+4—>b
7 7 11 41

16

10 29)

1£a + 14Eb
50 27

1 7 11
366) (ﬂm + 21—n)(25—m +2— )

31

2 2 2
368) [1—x—1—Vy]|{x+—
) ( 29 7y)( y)

27
370) 17gu +—v
39 40

n
50 17

3
171—3u + 1£
38 19

31

372) 6§x + 16Ey 21—x+ 10iy
7 45 46 12

7

3
374) [——u-1—-v 11£u + ZEV
11 9 26 8

376) (550~ 200
46 37

1§a - ﬂb)
4" 5

378) (4£a + 1£b)(£a - 3gb)

18 37
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46



379) (—y + 1éx)(—46y + 11%x)

381) Ex+ 10§y ix+ 19£y
8 49°/\19 19

7
383) [26°0x+ 30y )[Lx+ 131y
43" 733’ \11 30

4 30
385) 25£u +—v 1iu -—V
50 11 39 31

387) [21x + 1Ey ix+ 1iy
17°]\26 22

2 1
389) 3'—x——y 27Ex+24£y
33 2 16 14

1 11
391) (-a+ 15£b —a+ 1§b
3 16 /\28 41

393) ZEX + ﬁy 15£X - 1ly
26 11 23 44

1 8 14 1
395) |[—x——Vy|[1—x+—
) (5 9y)( 15 Sy)

1 \(2 7
397) [7x-1—y||-=x-1—
) ( 4oy)(17 39y)

380) 23§m + 17§n —m+9—n
4 4 J\18 44

382) |-47n+ Em im + 1£n
13 /\32

384) 11ix + 11y 23lx + GEy
16 4 32 45

5 26
386) |—x+ léy —X+ 1§y
11 387 )\47 49

388) Zzﬁx - Ziy X+ Zoéy
40 24 43

47
390) (2u - 1§v —u+ ZEV
8 J\50 37

4 3 19
392) |—a+—=b|(-49b + —a
15" 42 30

304) (1305 +13y|[232x- 123,
47775 57 731

396) 16£m - En 1im + 8§n
37 7 10 9

2
398) —Ox - ZEy 5ix - 1iy
27 20 22 15
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2
399) 19£x 13 12 y 2 -= 400) 63m + 1ﬂn 1§m + Sln
23 23 5 16 5 7 48
401) |5y + 1lx 32—7x 11—2y 402) 31 u+ i 11 +1— 11
12 20 29 43 25 12 13
1 33 19 27 14 2
403) |x——y|[25=x+41— 404) |—x-3—y|[28—x——
) ( y)( 2 37 y) ) (64 32y)( 51 3y)
17 15
405) 25 42§ —u+ 45§v 406) 7@ + b +18 59b
57 29 J\19 9 71 17 60
82
407) 9E +—y 10§ 9gy 408) (67x + 27gy 2x+ 3 68y
79 97 82 97 63 75
1
409) 4—2a 1— 9 b|{-16b +—a 410) 38£m + Zlﬂn lsim + 291—On
85 10 4 99 67 21 11
411) im 1in 20 m+ §n 412) 1ix + 1gy 96x — 1£y
14 11 2 45 21 76 3
4 7
413) 18 42§y 1£x - 1§y 414) |—x+ 2 y i -—
35 63 9 67 21
415) éx 16—y 10§ 2§y 416) ﬁx + Ey ZZEX - Ey
29 26 29 72 57 91 68 4

7
417) (1— 3 33£ —u+ 41iv 418) ZSEU + 17£V 163u - 1£V
50 75 )\31 90 63 73 44 17
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419) 1£x + 172y 4£x + 28£y
71 7 27 24

421) 42§a + 32£b 1la + 1ib
78 39 60 80

2 47 67 24
93 80 65

423) (17m -1—n|{39—m+4—n

425) 1§m + 49ﬁn 2n + lim
7 79 61

427) 35ix + 111y 1éx + 45§y
13 2 29 33

29) (13x+ 271y 2115+ 282y
7 8 3 48

431) 1§u - 1§v 1ﬁu + 331—6v
56 94 91 23

1
35 357/\89 34

435) 1§x—§y 1£x+ 17ly
7 24 25 64

19
437) [—=x+ 41iy lix + 39@y
46 10 25 68

220) [1287x+ 20 y)(1%x + 302y
85 47°\" 51 64

422) 1£a + 11b 49£a + ﬁb
46 7 91 85

4
424) BB@X + 1ly -9ly + —X
99 22 19

16
426) (-28y + 1ix 1lx +—y
14 86 63

11 1
428) Ex+ 14ﬂy —X+—=y
7 90°/\20 8

430) 17£x—13y 1rx+r1-ly
49" “257\T9" 29

432) 204—9x + 5§y 50£x + 1ly
64 30 77 31

44 \[1
434) 4iu +—v —5u + 323v
70 79 J\19 59

436) 24£a + 10%b -b + 1£a
85 97 13

6. 15 1
438) (1ox-—yl|(2y+=
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1
439) [—m+ 36£n 6£m + lﬁn
14 40 33

aa1) (161 x+ 3422
20 43

11

U
y 23 26y

443) (—2y + 10ix)(6gx - iy)

a5) (372x+ 355
48 46

5 15

y)(4—x +16—

6 16

4 \[41 11
447) (17%u - —v)(—u - —v)

7

69 12

7 16

y

449) 12§x + 15ﬂy —X+ 77—y
56 o7}

30 1

8 55

451) |45—a - —1b 39a - zb
91 42 44

a53) (12354227
84" 70

455) 1£x + 341y
28 90

13
457) [—m+ BOEn
34 71

201—6x +1—
49 71

4—m+-—n

1 28
80 43

)

440) (139—161 ; 37@b) (1—9a , ﬂb)

58 J\41

442) 1ix + 48§y 1§x +45——
35 68 10

oy)

444) (lgm - 1in)(322m + 1—n)

85

14 25 37

54

63 41

41
450) 11—9x +—y||97x - 6
33 55 71

19
22

8

454) (lgm + 1—n)(5—m -—n

85

3 1 2
456) |——x+1—y|(84x+—
L

458) 4£x + 47§y 4lx +
42 4 10

-23-

17
ag) [Hy-3ty| 120 -1
41 48

|

452) (48%a + 38—b) (74a +35

68

446) |43y + 27@x 31—9x - 1E
70 24

y
y

69

35
89

2,
96

35
30—
64 y)



459) Ex+4iy §x+72
7 57°1\9 91

19 11
461) |—u- 1iv 161u +—V
35 29 26 14

12
463) BGZX - ZEy 12y + —x
77 18 49

9 28
465) [—u+ liv 4iu +—
83 72 16 51

22
467) 24§x +—y 25£X + 1§y
6 29 65 40

14
469) [43>a-2p|(122a-11p
137 33 \'17 7

471) §x - 1ﬂy 26§x + E
35 74 27 35

29 1 1 22
473) |[—=x-1=-y||1-x-1—
) (56 By)( 2 35 y)

475) 28§x + 365—9y 13 46
62 A 14 67

47
477) 30§u - 1%v —u- 31v
76 73

25—x+ 20—y

27 1 1
460) |—x+ —5y —6x + 42£y
62 227 )\27 22

462) 7§x + 354—6y 1£x + 31£y
55 49 4 38

1
464) 39%x + 1@y 1£x + —5y
91 97 92 62

22 72
466) [—a+ 495—8b 72a+1—Db
49 59 89

468) 11x + 15gy 1lx - 1Ey
5 88 15 51

470) 46im + 401—9n m - 1£n
27 46 67

472) Ex + 393y 16§x + 4
24 61 4 57

474) 93£m + 11n lém + 5£n
41 5 89 46

476) éx + 27ﬁy 42§x - 1§y
69 89 45 46

1
478) |-2b+—a 18£a + ZOEb
2 71 53

-24-



479) (

a81) (132 a+7
19

483) (
485) (

487) (

59

61—u+ 25—3v 15iu - gv
90 66 29 29

1

6

1

1

24

i3

16

663x + 1Ey 17§x - 1£y
13 21 29 25
4£m + 49@n 23ﬁm + 11—3n
48 71 73 16
4
1Ex + 24Ey 3'—x + 9Ey
41 207 J\65 76

41 11 4 1
489) [18—x+20—y||1=x+1—-y
69 72 5 2

491) (
493) (
495) (

497) (

13

26—u-1—
83

3

1—x-1—

13

3

1-a+19—b
4 51

3

5-x-1—

5

13

18

13
22

43

61
86

)
I
e

11£u + ZGEV
69 10

1

X

2

X = SQB
20

47
+20°~
62 y)

33

41—a+8—>b
3 61

)

482) 357—6x + 34§y 1§X + §y
97 42 42 7

5 2 4 54
484) | —x—-1—Vy||38—x+—
) (9 Sy)( 5 89y)

23 1 1 17
486) [—x+—=y 15—6x +35—y
5 2 83 36

4388) 16£m - 1§n 43im + 30£n
34 90 71 14

290) (12254 202 y|[02 <~ 125,
62 49°\" 28" “65

492) Ex + 311—6y 45§x + 49ﬂy
29 55 36 63

494) [-90v + Bgu 1gu + 11V
97 70 2

496) |-42y + 71—3x 294—3x + 3lﬂy
20 60 86

7
498) [-830 +—al|[62 a+1%p
26 |\ 28" 59
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1
499) 31ix + 43£y 1lx + 16 500) lgm - 1En 90m - 1£n
33 72 74 67 41 23 87

501) 1x + 1£y 15£x + 25£y 502) [10x + 1gy -y + 21@x
2 52 50 16 9 79
11 \[1 14
503) 43Ex——y —5x+—y 504) 1£x+34£y 1£x+41£y
69 937/\38 27 25 39 73 25
35 60
505) [35m—-—=n 5§m +—n 506) 46§x + 245—8y 1§x + 47£y
53 30 77 83 73 41 37
1 2
507) —8x + 46£y 1ﬂx + 5—3y 508) 47gu + ZEV —gu + ng
97 67 93 75 90 62 |\66 35
1 41
509) 50§u + QQEV 48£u + 44§v 510) (—x——y 13§x + 25iy
5 41 82 52 6 53 62 72
511) (37x + 490 y|(7y + 192 x 512) (46-2a-—b|(122a-—b
92 49 19 21 35 11
513) (1 2%+ 1-2y|[272x- 2y 514) (31 0w+ 15 y|[22x+ 120y
55 13 29 35 40 89 77 41
515) ém + 37ﬁn 1£m + En 516) 1ga - 1Qb 1ﬂa - ib
47 69 30 58 3 83 95 37

1 7
517) 35£m + 37En 40£m +=n 518) [—x+ 37§y 28@x + 27£y
61 59 91 5 34 98 53 91
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519) 1£x - 1Ey 1§x + 27§y
83 84 7 34

13
521) 18§x -—y 36§x + 45ﬂy
89 18 74 5

523) |65x + 42§y 31x + 1Zy
76 3 8

55
525) Zléa -—b 32£a + llb
26 73 71 4

4
527) 1§x - —5y ZOix - 1£y
3 86 18 60

529) 25§a + 1£b 37ga - ib
39 15 72 23

531) 925—6x + zy 1§x - 1£y
61 7 7 49

533) [122x + 3522y |38 3Lk + 62
82 87 56~ 100

535) 335—3x + 11ﬂy 46y + 64£x
75 93 13

y

520) 38§x + SEy 84x + ﬁy
76 38 56

522) 1gu + 19zv 71u - 31—Ov
97 70 3 19

74
524) ZOEU - —V|[50u + BOEV
11 85 91

1 31 }\[5 1
526) |1—X-3—=Y||-—=X——=
) ( 19 99 y)(13 10 y)

21
528) 1Em + 1En -11n+—m
54 15 52

530) (2789 + 5022 y)(10x + 152y
47 35°)\"19" "6

532) Em + 7£n Zgim + 25£n
34 100 29 75

32
534) (15°tx+ 2907 |32t x+ 32y
% 100 72" 65

536) Ex + 49%y 1ﬂx + 21§y
15 31 70 96

538) (2u - 3ZV Zléu + Zlgv
3 26 17
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27
539) [17-x+ aa—y|(19x - 27
25 20

541) (1827 - L b|(282%a+502%p
33° 10 \7 =4 P2

3 66 10
89 81 68

543) (21-—a+1—Db||13—a- 21b
46

1
545) (190X + 120 |(2x + 627y
82" “57°\s" 44

547) Em - 1§n 9§m - 1En
74 47

3 9 (11 40
949) |—X+5_—Y||l--X——
) (4 ZOy)(Sl 43y)

16
551) (-49v + 8£u 23£u -—V
11 3B 4

553) (46 1x+17-y|[o>x + 242y
18 11°)\" 93 35

19 25
555) [—=x- 1gy —X+ 36£y
47 7 \27 43

557) 1£u + 47§v 48§u + 25£v
25 48 36 62

540) 14£x + Ey 43x + 8§
12 41 13 53

15 3 \(%1 . 3
946) | X—1-y||=X+—
) (34 5y)(64 91y)

548) 24@m + 24§n 13m- 1£n
61 69 96

4
550) (11x+ 4422y )20 -2y
2 76 80" 35

86 3
552) |—x+ 39z 401—9x -—=y
89 34 22 7

554) 39%a + 26£b lﬂa + 1ib
39 54 47 28

11 1 70
556) [-y+ 13—x|{1—Xx—-1—
) ( y 32 )( 8 73y)

12
558) 42§a + 1£b —a+ 1£b
53 17 J\13 35
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559) SN 198|132 x- 122y
75 50

561) 15—6m 17—On 27— m+411n
81 93 76 33

563) [1—x + 26 38y 14y + 18«
% 79 25

47 \(1 6
565) -y + 37 —x|[=x - 1—
) ( Y eg )(5 29y)

1 11
567) (u-1o0v)[ ue 1Sy
31 29 8

569) 30§x léy 7£x—iy
25 30 31 11

6
571) 1t a+16% +—b
46 a1 \'36% " 25

573) (36—Lx+21—y|[12x+ 110y
53 g8’ \"48" 24

575) 19im + 24in 36m — 1£n
88 25 11

577) 4131m 38§ 47E +27Zn
74 58 90 8

560) 452m - 3£n 27im + in
68 14 22 67

1 3 4 61
562) [1—X——Vy||—Xx+4—
) ( 5 4y)(43 70y)

7 2
564) 321x lﬂy —3 Oy
4 18 92 81

42
566) (12x + 22y \(<7ay + 1031«
5 65 54

16 29
568) [52y + —x]||13y+ 10—Xx
)( Y 30 )( Y 2)

570) (3820 + 3230y, %8 4635,
18 o8 \77° 43

572) |50a+ 1lb 291—O £b
38 23 29

s574) [13x+ 5% y)1-2x 412y
R ARETR] RET ]

37 \[.50 1
576) [-2y + 1°o—x|[1=x+=
)( e )( 99 5y)

1,18 )(,37
578 +7=y[15x - 1=
) ( 9%5 82y)( 71 y)
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579) (74—x -<
7

14
581) |——x + 42—
17 1

7
2l

9
583) [52x+1—
) ( 16y)(

11

17
585) (33u+5—v
60

587) (8

589) (9 5x + 420
74

591) (

10
13

5 19
1—x-—
4 21

ﬂx + 21i
60 46

48 15
49 32 Y

381—9x + 19§
44 7

1—x-1—y

13 23
29 33

9 41
19 74

29 .23
M =x-1—

sy)

25

1 1
13— X+ _—
y)( 82 23 y)

e

6
33 11

18 63
593) [x+2—y|(-58y + 10—x

595) (

597) (

52
79X — —
99 y)(

Zliu +—
31 15

2

38 23)

1—x-1—
85 43 Y

BZBU + 12E
36

\'
53)

1
580) Zle - lgy 1%x - —8y
3 17 45 19

582) 25§u + 4ﬂv 13§u + 5§v
24 85 95 77

1
45 21°/\99 27

586) 1284+ 40-Sb|(36a- 1320
33 13 17
588) (31 50+ 2b|(-93b+ 34 a
53 44 82

590) 46§m - 1£n im + 17§n
81 3 J\39 51

592) 47§m + 74—3n -n+ 1§m
95 83 92

594) |61u + iv 6—u-—Vv
11

5 24 9
596) |1ox+1—y||33x + —
) ( 8 29 y)( 20 y)

598) 33£u + 321v Eu + 281v
46 38 \7 2
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2
599) [2x-330y|(38 2 x+ 128y 600) 3B 1853|492 x+ 1Ly
19 43 50" 71 52 30 34" T2
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MATHX.NET

Multiplying polynomials - Fractions - Simplify product of binomials

Simplify product of fractionswith two variables:

1 1
1) | x-1-y||-2y+1—Xx
IO e
7 1 1
—3—xy+1=x* +2=y?
20Xy 5 4y
3) 31a+ 11b 1ﬂa+41b
6 3 5 7

5—7—a2+15}99ab+511b2
10 210

3 1
5) (ZX - 1Zy)(y + gx)

2
1£xy +=x2 - 1§y

21

2

12 3 4
1 2 1
7 [3—x—— +1—X
JER
9 1, 2,
2—xy+5—x° ——
10Xy 4 5y
9) 11x—1Z 31x—11y
2 7 4 8
7, 97 25 ,
4—x*—-5——xy+1—
8 112)(y 56y
3 1 4 2
11) |3—x-1—Vy|[1—x-1—
) [y 1)
3, 19 1,
6—X" - T7T—xy+2—
4 ZOXy 10y

6 1 3
13) [4-x+_y|{x+1—=
JE o
6 , 19 4 ,
4-X"+8_—_Xxy+—
7 70xy 5y
15) (-v+ 2§u 2u—31v
4 2
—11§vu + Z%}v2 + 5£u2
5 11\(1 1
17) [1=x+—=y|[=x+ 3=
J S e

6, _201 11,
—X“+5——xy +
302" " 14

5
2) [-u+ 1Zv 8u + 31v
6 5 5

GEUZ + 131—3uv + 41—2v2
3 15 25

4) 3§a - 11b 21a - lb
6 4 2 2
7

1 5
9—a’ -5—ab+—b?
12 24 8

19 , 139 3,
1=—=x2 +9="xy + 5=
36 1807 757

14) (Zv + 1§u)(—6v + 1§u)
3 7

1 8
—12v? — 7=vu + 2—U?
7 21

5 113 2
16) |4—-x+—y|[—-x+1—
o)

43 , _213 5 ,
1552 + 752y +
56 204" " 127

1 2 4
18) |1—x+4—y]||-2y+1—X
) ( 7 5y)( 77 )

35 49 5



19) 1ga + 11b §a + 31b
3 4 J\5 3
a’+ GEab + 41b2
36 6

6 \/[5 1
21) 2y + 1—X||—x+—
)(y 7)(8 6”)

47 1 9
1—yx+=y* +1—x°
84yx 3 y 56
1
23) 41m - 1ﬂn —m+ En
4 7 \2 7
21m2 limn -~ ﬁnz
28 49
3 1 3
25) [4—x+2—Vy|[3—x+1—
) ( y)( 6 5y)
14252 + 14708, 4 34
42 1680 5

5 1 1
27) |5—x+1—vy|l-2y+2—X
)( 8 zy)( Y 4)

7 21 5, .,
~7—xy +12°"x% - 3
8" 32 /

29) (2u + 11v 31u - Ev
2 2 5

9
T+ 4ty — 2
20 10

7 1 5 3
31 [1—x+4—y|[4—xXx-1—
) [rgerag(o5x-19)

3
33) |-8b+—a 4§a - 1§b
4\ 4 3
—395ba + 131b2 + 33a2
4 3 16

1 1
35) [2y+ —X]|2x - 1—
)(y 5)( 6”)
23

1 2 2 2
3__YyX—2_y +—X
307 37 75

20) (-b+ 3§a Ea + Zﬂb
4 |\8 5
9 pa- 2202 + 21122
8 5 32
22) 11m + 11n 3§m + 31n
2 3 6 7

51 + 922 + 42
4 63 21

1
24 X=3—=y||1—x+1—

) ( y)( 5 6y)
6 , 163 5,
—X*—=3——xy—-3—
35 210)(y 6y

4 5 3

20) |1—x+1—vy||3x+1—
) ( 5 Gy)( y)

1 13

2 2 2
5—X"+8—xy+2
5 147" 2

28)( x+1;y)(2x 31y)

36) 11a - 1Zb SZa - 1gb
2 8 8 3

51252 - 9 ah + 312
16 64 8

38) (2x - 61y)(5y + ng)

_7£Xy 52 2

5
—-30-y?
3 8y



1
39) n+31m 51m+—n
2 7 2

2 1
47) |12y +4-x||-y + 1=X
reedresg)

4 3
—2y% - 2—yx +5=%°
RTINS

49) (4%x - 1Zy)(x - 1§y)

1 2 13 2
4— 8 +2
2 xy 3y

51) 1§a + 11b a+ 3gb
7 4 3
1§a2+6ﬂab+4—7—b2
7 84 12

1
53) (n+ 3£m Zﬂm -—n
7 7 3

1
A L
21 3 49

1 5\ 3 2
5) [1—x-1—-y||[4—x—-1—
) ( 3 8”)( y)

4" 73

1, 2711 17
6-X> — 9 —xy + 2

3 288" " <247

57) (—6y + 1x)(l%x - 5§y)

2 7
-10 +32 NG
5yX 5y 15

40) 21m + 2§n 11m + 2§n
8 7 8 8

25
—m
64

11\/4 5
42) |2y + 1 x||zx—-1—
)( Y 2)(7 6”)

25 2 6
—3==yx+3-y? +—x°
28yx 3y 7

44) (3x - %y)(—y + %x)

1 3, 2,
—3—Xy+—X"+—
GXy 4 3y

46) (—3v + ZEU)(U - 3§v)
6 8

—10ﬂvu + lOzv2 + 21u2
48 8 6

48) a+4 b 2b+1£a
3 2
1 2 2
8—ab+a“+9b
12

50) (Zx 1— y)(23x+3 y)

11 , 73 8
1570 907 %Y

52) |—-2n+ 1m 2n + 3§m
3 8

1\(,1 .6
56) (5% +3=y|[15x+ =

1, 34,
7=X2 +9xy + 2
2" TV Y

58) u Zﬂv 11u—§v
3 5 8 8
3 2

“u? - SEuv + 1iv2
4 20



65 5
16— 3=y? +6=x°
84yx y 2

67) (Zm - En) (Zn + 1m)
3 2

2 1
3=mn+m? - 1=n?
3 3

3 1 5
69) |2X+1—VY]||—x+ 3—
) ( 7y)(2 6y)

15 , 1,
4" xy+ X2+ 2=
e =

511
73) Zlu -—V||=u- 31v
2 7/\8 7
LN NP
16 56 49

75) Ex+g 2§x+gy
7 3 3 3
22x +22—xy+ y
7

77) u+1iv 11u+1§v

8 2 2 6

1£u2 + 3ﬂuv + 2§v2
6 4

1
60) 21u + 41v —u+ 11v
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